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5. o AW T A F2A2? (F,0°<A<90°)

@O A9 #to] AXH tanA 2] g A}
@ A°] Zto] AXH cosA Q] F= ATt
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The F0l EE B x4y o e FoIH?

2te sin cos ‘ tan

14° 0.2419 0.9703 0.2493
15° 0.2588 0.,9859 0.2679
16° 0,2766 0,9613 0,2867

sin x = 0.2766 , tany = 0.2493
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717} 30° <1 A4 9]
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12. tan(2A -30°) = V3 & W], V2(sin A + cos A) — 2 9] gF-& st t.
(2 0°<A<90°)
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2 B3, 5710 1 ke gt b 2 e Al
Fstoler,

ZI e sin cos tan
10° 0,1736 0.9848 0,1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0.7071 1,0000
50° 0,7660 | 0,6428 1,1918
70° 0.9397 | 0.3420 2.7475
89° 0.9998 | 0.0175 | 57,2900
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b= sin cos
74° 0,96 0,28
75° 0.96 0.26
76° 0.97 0.24

€ 13a+ 13c =
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